ot

@ 3x ® xy @ 2xy ® 2x2

D 2x



2. o Ae?-645 d5EdletH?

@® (a+8)(a-28) @ (a+32)(a-2)
® (a+32)(a-32) @ (a+8)(a+8)
® (a+16)(a-4)



3. x?-dx-A = (x+5)(x-B) & A5E3} Drh. A-B o] & FohE?

D =36 ® —54 B 36 @ 54 B 64
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@® 2x-3y

@ 2x + 3y

A 2x2 —xy—Ay? Ol x—2y &
FE? (T A=)

@ 2x-y

® 2x + by

A& 74 of, oh 3 o] o

©) 2x+y
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5.

the Bl 9] A4 Ra B &, Ol o1 § 8 B
go} el 2 AA L A

al

A7

+2xy+y’-1
AR <
=(z+y+1)(x+ y—l)j©

H7]

H 710 A

=7
7}’)61 +2ab+b2 (a+ b)?
) a? = (a+b)(a-D)
) +(a+b)x+abf( a)(x+b)
)

(
(
(oh) «2
(2H acx?® + (ad + bc)x + bd = (ax + b)(cx + d)

@ (7h), (1) @ (), (°h
@ (1), (7H ® (71, (D



@ x-2

® x2+4x+3



® 4 B 6 @ 11 B 16

D 2



8. X -2xy+)y?-5x+5y+4F AFEoloHH?

O (x-y-4)(x-y-1) @ (x-y+4)(x-y+1)
® (x+y+4)(x+y+1) @ (x+y-4)(x+y-1)

® (x-y-4)(x-2y-1)



9. =243 ,b=173 &4 W, a® - 2ab + b* O] F2?

@D 0.36 @ 0.49 ® 0.64 @ 0.81 ® 1.21



10. x=2+4 V2, y=2v2-3 & 1|, 3x2 - 10xy + 3y* & g F6}H?

D 89 -31+2 @ 89-32+2 ® 89 -332
@ 89 — 342 ® 89 —3542



